1.  Green revolution in India was started from which of the following crop ?
(a) Wheat (b) Rice (c) Sugarcane (d) Tea

2. Mandakini meets Alaknanda at

(a) Rudraprayag (b) Karnprayag (c) Devprayag (d) Nandprayag

3. Who propounded ‘Subsidence Theory’ related to the formation of Coral Reefs ?
(a) Murray (b) Daly (c) Darwin (d) None of these

4.  Which one of the following states of India has forest area more than 80% ?
(a) Mizoram (b) Nagaland
(c) Arunachal Pradesh (d) All of these

5. In which direction most of the Peninsular rivers flow ?
(a) South (b) West (c) East (d) None of these

6.  Which one of the following activities is shown in an economic map ?
(a) Landuse (b) Transport (c) Mineral (mining) (d) All of these

7.  Maximum concentration of fishing in the world is in :

(a) Frigid zone (b) Torrid zone (c) Temperate zone (d) None of these

8.  The rural settlements in mountainous parts of India are -

(a) Dispersed (b) Hamlet (c) Semi-compact (d) Compact

9.  Which one of the following farming types is practiced in India ?
(a) Subsistence Farming (b) Plantation Farming
(c) Shifting Farming (d) All of these

10. 'Who propounded the principle of “Terrestrial Unity” ?
(a) Kant (b) Humboldt (c) Ritter (d) Farster

11.  Which one of the following factors determine the process of population change ?
(a) Fertility (b) Mortality rate  (c) Migration (d) All of these

12. Who was the author of book ‘Anthropogeography’ ?
(a) Kant (b) Ritter (c) Ratzel (d) Jean Brunhes

13. An inhabitant coming from outside is called
(a) Emigrant (b) Immigrant (c) Outsider (d) None of these
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The village inhabited around a lake is a settlement of —
(a) Radial Pattern (b) Nebular Pattern
(c) Nuclear Pattern (d) Star Pattern

Which one of the following geographers is not related to Human Geography ?

(a) A.Demangeon (b) P.M. Roxby

(c) D.H. Davis (d) Erwin Raize

“Stop and Go Determinism” is associated with

(a) Griffith Taylor (b) Jean Brunhes

(c) Carl Saver (d) Fredric Ratzel

The propounder of the thought of ‘Possibilism’ was :

(a) Issiah Bowman (b) Vidal de la Blasche

(c) Demangeon (d) LaFebvre

‘Migration Zone Theory’ of human races was given by :

(a) Haddon (b) Kroeber (¢) R.C.Guha (d) G. Taylor
“Bigger the column lesser the density, smaller the column, greater the density.” -

Who said this ?
(a) Pratt (b) Dutton (c) George Airy (d) Haford

The principle of activity in Human Geography was elaborated by :
(a) J.Brunhes (b) Blache (c) Sorre (d) Ackerman

Arrange the following settlements in the ascending order of their hierarchy :
(a) Town, city, urban village, metropolis
(b) City, town, metropolis, urban village
(c) Urban village, town, city, metropolis
(d) Metropolis, urban village, city, town

Kraal, Igloo and Yurt are
(a) Tribes (b) Type of houses
(c) Means of transport (d) Grasslands

Which one of the following is the brightest planet of the solar system ?

(a) Jupiter (b) Mars (c) Venus (d) Earth
The oldest known weather map of the world prepared by :

(a) Prof. Henry (b) Sir William Hershel

(c) H.W. Brandes (d) James Glaisher

In which year ‘Survey of India’ was established ?
(a) 1667 (b) 1767 (c) 1867
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Which one of the following is the longest wave of the electro-magnetic spectrum ?
(a) Gamma (b) Infrared (c) Radio (d) X-ray

Which one of the following instrument is not used generally in aerial photography ?

(a) Stereoscope (b) Multiplex (c) Dumpy level (d) Parallox bar

Which one of the following meridian is considered as International Date Line ?
(a) 180° (b) 23»° (c) 66%° (d) 90°

Contours drawn at a same distance indicate a

(a) Gentleslope (b) Steep slope (¢) Uniformslope (d) Convex slope

Which one of the following is not a type of profiles ?
(a) Serial profiles (b)  Simple profiles
(c) Composite profiles (d) Projected profiles

On the map scale of 1/50,000, 1 cm. distance will show how many metres on the ground ?
(a) 5,00,000 (b) 50,000 (c) 5000 (d) 500

Which one of the following is an example of large scale map ?
(a) Cadastral map (b) Wall map
(c) Atlas map (d) None of these

Which of the following is not a great circle on the globe ?
(a) Prime meridian line (b)  60° North latitude
(c) 60° East longitude (d) Equator

Hygrometer/Hygrograph is used to measure :
(a) Rainfall (b) Precipitation (c) Humidity (d) Wind velocity

Who wrote the book titled ‘The Nature of Geography’ ?
(a) Ritter (b) Hartshorne (c) Humboldt (d) Bruhnes

Among the following ancient geographers, which one is not a Greek Geographer ?

(a) Herodotus (b) Anaximander (c) Plini (d) Eratosthenes

Who measured the length of equator first of all on the basis of scientific principles ?

(a) Eratosthenes (b) Hecataeus (c) Anaximander (d) Homer
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In which of the following years the ‘KYOTO’ protocol was signed ?
(a) 1987 (b) 1992 (c) 1997 (d) 2001

To minimize the differences between Determinism and possiblism, who first presented the
concept of ‘Neo-determinism’ ?

(a) G. Taylor (b) Ratzel
(c) Vidal-de-la Blache (d) Huntington

Which one of the following is not a type of scale ?

(a) Vernier (b) Diagonal (c) Comparative (d) Conical
‘Orthomorphic Projection’ is suitable for showing :

(a) Wind direction (b)  Ocean current

(c) Transportation route (d) All of these

Which ocean current is warm ?

(a) Labradore current (b) Beneguela current

(c) Humboldt current (d) Kuroshio current

Which one of the following theories is not related to temperate cyclones ?

(a) Dynamic theory (b) Thermal contraction theory
(c) Eddy theory (d) Polar Front theory

‘Chinook’ winds are found in

(a) France (b) China (c) North America (d) Africa
According to ‘Koppen’, which type of climate is ‘B’ type climate ?

(a) Tropical and semi dry climate (b) Mid latitude humid climate
(c) Dry climate (d) Polar climate

Which one of the following is related to manmade ecosystem ?

(a) Grassland ecosystem (b) Cropland ecosystem

(c) Forestland ecosystem (d) Desert ecosystem

‘Barchan’ land form is formed by :

(a) Deposits (b) Erosion (c) Geo-fault (d) Weathering
The most authentic evidence about Earth’s interior comes from :

(a) Volcanic eruption (b) Density, Pressure & Temperature

(c) Seismology (d) None of these
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Among the following cities, which one lies in the farthest north ?

(a) Beijing (b) New Delhi (c) New York (d) Rome
Isohalines join the places of

(a) Equal distance (b) Equal salinity

(c) Equal temperature (d) Equal time

How much area of the ocean basins is occupied by the continental slopes ?
(a) 8.5% (b) 55% (c) 10.5% (d) 11.5%

Maximum ocean salinity is found in :
(a) Tropic of Cancer and Capricorn
(b) Mediterranean Sea

(c) Enclosed seas and lakes

(d) None of these

Sargasso Sea is a part of which ocean ?
(a)  Arctic Ocean (b) Atlantic Ocean
(c) Pacific Ocean (d) Indian Ocean

Where is the Great Barrier reef spread over from the following ?

(a) Western part of Europe (b) Eastern part of North America
(c) Eastern part of Asia (d) Eastern part of Australia

In which of the following oceans river ‘Ob’ discharges its water ?

(a) Atlantic Ocean (b) Pacific Ocean

(c) Arctic Ocean (d) Indian Ocean

The Gulf Stream is a —

(a) Cold current in South Atlantic
(b) Warm current in North Pacific
(c) Warm current in North Atlantic
(d) Cold current in South Pacific

Which one of the following is not a metamorphic rock ?
(a) Marble (b)  Quartzite (¢) Granite (d)  Schist

‘Dolphine Rise’ which is a part of the Mid-Atlantic ridge is situated —
(a) North of Equator

(b)  South of Equator

(c) Between Iceland and Scotland

(d) Between Greenland and Iceland
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59. Which one of the following pairs is not correctly matched (City — River) ?
(a) New York — Hudson (b) London — Thames
(c) Vienna— Danube (d) Agra—Ganga

60. Which one of the following is a kind of coal ?
(a) Hematite (b)  Anthracite (c) Limonite (d) Magnetite

61. A soil with pH value above ‘7’ is —

(a) Saline (b) Alkaline (¢) Acidic (d) Normal
62. Which one of the following is considered the cheapest means of transport ?

(a) Road transport (b) Rail transport

(c) Water transport (d) Air transport

63. Which one of the following is not the type of iron-ore ?

(a) Magnetite (b) Haematite (c) Lignite (d) Siderite
64. Gandhi Sagar Dam is a part of which one of the following ?

(a) Chambal Project (b) Kosi Project

(c) Damodar Valley Project (d) Bhakra-Nangal Project

65. Which one of the following is not included in the category of primary occupation ?
(a) Hunting (b) Fisheries (c) Agriculture (d) Transportation

66. Fishing occupation is :
(a) Primary occupation (b)  Secondary occupation
(c) Tertiary occupation (d) Quaternary occupation

67. The best type of coal is :
(a) Anthracite (b) Bituminous (c) Lignite (d) Peat

68. Suez canal connects :
(a) Mediterranean Sea — Black Sea
(b) Mediterranean Sea — Red Sea
(c) Mediterranean Sea — Arabian Sea
(d) Black Sea— Red Sea

69. Which one of the following is not a type of iron ore ?

(a) Magnetite (b) Haematite (c) Lignite (d) Siderite
70. Iron and steel industry is a :

(a) Primary occupation (b)  Secondary occupation

(c) Tertiary occupation (d)  Quaternary occupation
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65. Tmfarfiga § 4 9 91 U Trafies sge@m i 9ot #§ gffyfed &f e srar g 2

(a) 3T (b) HIITA (c) N (d) ufEE
66. H FIEE G ¢
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67. TEY IT9 YR HI AT AT & -
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71. The ‘Downs’ temperate grasslands are found in :
(a) South Africa (b) Australia (c) Argentina (d) Canada

72. D. Whittlesey classified the world into agricultural regions :
(a) 11 (b) 12 (c) 13 (d 10

73. The Famous book ‘World Resources and Industries’ is written by :
(a) Herald Robinson (b) W. Alexender
(c) E.W.Zimmerman (d) TIan Salisbury

74. The city of Chicago lies on the bank of :
(a) Lake Michigan (b) Lake Erie
(c) Lake Huron (d) Lake Superior

75. In Brazil, coffee gardens are called :
(a) Coffee garden (b) Fazenda (c) Selvas (d) Pampas

76. In which one of the following countries agriculture is called ‘Ladang’ ?
(a)  Sri Lanka (b) Malaysia (c) India (d) Myanmar

77. In which country the Khulana Sea port is located ?
(a) India (b) Pakistan (c) Bangladesh (d) Iraq

78. In which country the Bavaria industrial region is located ?
(a) France (b) Germany (c) [Italy (d) India

79. Which state of U.S.A. grows wheat in spring season ?
(a) North Dacota (b) California (c) Texas (d) Kentucky

80. Which one of the following used ‘ISODAPANE’ in his theory ?
(a) Weber (b) Davis
(c) August Losch (d) Hoower

81. Which one of the following groups is non-conventional source of energy ?
(a) Wave energy, Biomass energy, Petroleum energy
(b) Biogas energy, Tidal energy, Hydroelectric energy
(c) Thermal electric energy, Natural gas energy, Urban-industrial waste

(d) Solar energy, Wind energy, Geothermal energy




71, SIS shidsreia e o B Ut 9 @ -
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(d) ER oM, Ta SHotl, Y- et
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Which one is the longest railway system of the world ?
(a) Trans-Canadian Railway (b) Trans-Siberian Railway
(c) Perth-Brisbane Railway (d) Trans-U.S. Railway

Where is Union-Pacific Railway ?
(a) Canada (b) U.S.A. (c) Africa (d) South America

Which one of the following is busiest trade river in world ?
(a) Rhine (b) Dneper (¢) Neister (d) Weizer

The term ‘Ecology’ was first used by :
(a) St. Hilaire Isodore Geoforry (b) St. George Jackson Mivart
(c) E.P. Odum (d) Ernst Haeckel

Which one of the following is not a type of scale ?
(a) Linear (b) Statement (c) RF. (d) Explanatory

What is usually shown with the help of Cadestral map ?
(a) Cultural feature (b) Land use
(c) City-morphology (d) Mineral resource

Which one of the following, used the word ‘Photogrammetry’ for the first time ?
(a) Hauk (b) S. Finster Walder
(c) A.Meydenbauer (d) F. Stolze

How many parallel lines can be drawn at an interval of 1° between the poles on a globe ?
(a) 180 (b) 178 (c) 179 (d 181

Which one of the following is the basis of Koppen’s ‘B’ type of climate ?
(a) Temperature
(b) Evaporation
(c) Precipitation

(d) Ratio of Precipitation and evaporation

The Physical state of the earth’s inner core is :
(a) Gaseous (b) Solid (c) Liquid (d) Viscous

Which elements dominate ‘NIFE’ layer of the earth ?
(a) Silica and Aluminium (b) Basalt and Silica

(c) Silica and Magnesium (d) Nickel and Iron




82. forawmge T idd A S TG ?

(a) T — hAfead toTdl (b) T — G TeTdl

(c) U — e o (d) T -I.0d. &
83. e dftrfthen Yommi gl B ?

(a) TSI (b) I TUST ITHIHT

(c) 3ThiehT (d) efeor smfeERt

84. frm=ferfiga § 9 %1 o fava &) g8 <o sies A< @ ?
(a) TH (b) X () X (d) =R

85. uriferfaehy wree <1 TaweH T foha T
(a) BT et EEER Sw g (b) T SItsl Sere firard g

(c) .. 3feHgm (d) IR Thd gAI
86. =11 ¥ 19 Ueh HIUHT T TR TEl & 7

(a) Y@THS (b) HYATHSD (c) Tr=Tes (d) SARATHS
87. TS Ao shl TR & T 1 Yefsid giar 8 7

(a) Wi ferroaTd (b) ¥t 3T

(c) TR-3THId (d) @S gEeR
88. Tomifera o @ fera wema wiemfufa’ wreg 1 W= foman 7

(a) b (b) TE.fFT AT (c) U U TRK (d) Uh. Lol
89. TS T Yal % AL 1° o =l W FehaT TR t@Td ©i=ht 51 dehdt & 7

(a) 180 (b) 178 (c) 179 (d) 181
90. freferfiaa § | S T HIUA Sl T TR T 3MUR 3 ?

(a) dMHHA (b) TSR

(c) @§u (d) N1 TS STSHIRTOT T STTITA
91. g} % ITAH hrd W hi Hifereh Tawe B -

(a) T (b) 3™ (c) A (d) et
92. el <1 T T H fo el ol MEHAT R 7

(a) THforRt qen Tegfim (b) sHTee aT faferent

(c) Tafees aun afifsrm (d) Taferet qen e
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93. The concept of base level erosion was presented by :
(a) Malott (b) Penk (c) Davis (d) Powell

94. Drumlin is formed by :
(a) Wind erosion (b) Wave deposition
(c) Glacial deposition (d) Wind deposition

95. Which one of the following is not a Glaciated topographical feature ?
(a) Horn (b) Dust well (c) Lappies (d) Hummock

96. The ‘Continental Drift Theory’ was propounded by —
(a) Gregory (b)  Fisher (c) Wegener (d) Holmes

97. Which one of the following topographies is not formed by volcano ?
(a) Batholith (b) CIff (c) Lopolith (d) Crater

98. Which one of the following gases is found in least quantity in earth’s atmosphere ?
(a) Hydrogen (b) Helium (c) Ozone (d) Neon

99. The CAZRI institute of India studies which one of the following problems ?
(a) Desertification (b) Droughts
(c) Earthquakes (d) Floods

100. Arrange the following layers of atmosphere in ascending order :
(a) Troposphere, Stratosphere, Ozonosphere, Mesosphere
(b) Mesosphere, Ozonosphere, Stratosphere, Troposphere
(c) Stratosphere, Troposphere, Mesosphere, Ozonosphere
(d) Ozonosphere, Stratosphere, Troposphere, Mesosphere

101. ‘El-Nino’ is
(a) Warm air (b) Cold air

(c) Warm water current (d) Cold water current

102. Who is propounder of ‘Tetrahydral Hypothesis’ of earth’s origin ?
(a) Devis (b) Laplace (c) Lowthian Green (d) Wegner

103. The last great ice age existed on the earth in —
(a) Pleistocene period (b) Triassic period
(c) Miocene period (d) Pliocene period

104. Which one is not a ‘Karst’ landscape ?
(a) Ponores (b) Potholes (c) Lappies (d) Blind valleys




93. eI (STYR Tet) 3TUEH 1 TN TKA <hi T8 ff
(a) TR g (b) Uk g (c) sfmgr (d) U gr

94, gHferH 1wl AT R ;
(a) TYIWEAGN(b) TR FEmIgrr (¢) femag fFemu g (d) oy Femo gr

95, frmfafaa § 9 %1 ue ferrh a wyemsia T2 7 7

(a) 'H (b) fet T (c) o d) T
96. RIS Selre (fereermer) fergTr” sreqd feparm 2 -

(a) A (b) T3 (c) TR (d) B=A
97. TreAfcrfaa # 1 wsh Y- A1l saremE gr fiHa T gt 2 7

(a) SAfay (b) ToT® (c) oHifere (d) whet
98. Y} argAvEH § i | @ iE U N0 Te % A H e R 7

(a) ETEZeH (b) Eiferm (c) A d) f=m
99, WA T I (CAZRI) TEIH 1 1 9 fohm Ueh q0E o1 3189 a1 g 7

(a) TEEARWT (b) HEI (c) ¥ (d) dme

100. STIHUSH o 11 T 1 STET 368 T SEfEId HiIfT :
(a) &Y HUSH, THATT HUSH, 3T HUSe, HET HUSH
(b) HLAHUSH, AT HISH, THATT HISH, &9 HUSA
(c) TYATT HUSH, &Y AUSH, HEd HUSH, 3T HUSH
(d) 3TISTF HYSH, THATY S, &A1Y HUSH, HEd HUSH

101. ‘TA-FH 2

(a) TH g (b) U EET (c) TH @GR (d) 3 TAYT
102. ge& 1 It FFarwet HgTien g 1 fdqdred fohe foRa ?

(a) sfam (b) TR (c) onefa e (d) IR
103. gt W 3Af~m 7gM fem g srfeqe o o1 -

(a) TR S o (b) Teanfers e

(c) WTEEHH Hd | (d) AT et |

104. I T HRE’ TAATHII a1 & 7
(a) O (b) TRt (c) i (d) e
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106.

107.

108.

109.

110.

111.

112.

113.

114.

115.

Who introduced the term ‘Monsoon’ ?

(a) The Britishers (b) The Arabs (c) The Mughals (d) The Chinese
“Change is the law of nature”, which one of the following geographer stated ?

(a) Huntington (b) Brunhes (c) Humboldt (d) Blasche
Which one of the following is a warm ocean current ?

(a) East Australian Current (b) West Australian Current

(c) Benguela Current (d) Peru Current

Which one of the following rocks is not Sedimentary rock ?
(@) Limestone (b) Shale (c) Chalk (d) Quartzite

Which type of soil erosion takes place in Chambal and Yamuna ravines ?
(a) Gully erosion (b) Terraced erosion
(c)  Sheet erosion (d) None of these

Gate town of the Uttarakhand :
(a) Dehradun (b) Kathgodam (c) Kashipur (d) None of these

DBMS stands for —

(a) Data Base Manufacturing System
(b) Data Base Management System
(c) Data Base Monitoring System
(d) Data Base Mixing System

The largest cotton producing country in the world is —
(a) China (b) Brazil (c) U.S.of America (d) India

In which of the following years the air-service started between Allahabad and Naini ?
(a) 1911 (b) 1947
(c) 1950 (d) None of these

Which one of the following has high density of Population ?
(a) Tibet (b) Vietnam (c) Turkistan (d) Siberia

Which one of the following is not a result of GIS modelling ?
(a) Binary model (b) Index model

(c) Regression model (d) Iconic model




105. I S Teyem feohae seduret foham ?

(a) Tafemra (b) 3IWEA (c) el (d) =f=ia
106. “TfEd Fhid w1 fem B 97 e Frefaiad § & forg yia s 1 2 7

(a) e (b) SH (c) EHIlee d) =
107. =1 & 4 s ™ T AU R ?

(a) T o Sieam (b) ufgeft s feran Srerem

(c) SETIUAT STAURT (d) T STAI
108. F=faRad & @ % @ 9 Waer 781 & -

(a) =T IR (b) A (c) Wfea (d) FEEATEE
109. <ot 3R TG % @Iedl (Ravines) H fh T 1 HeT ST BT R ?

(a) TeAIGR 3ToeH (b) ISR I

(c) WAER TR (d) FTHHHE T
110. 3TUEUES ] TaER

(a) <EUEd (b) HSTIEH (c) HEfig (d) 3T HIETE
111. S.fi.ta.wg. SracE 2 -

(a) 3ATeheT 3Ty fafmior yomreft (b) TSI YT T-& JOTTA!

(c) 3TThET YTRG Tae= Jorreft (d)  3reRet e fufsa yomeft

112. Towa T SumE 1 ifeeh IcTe i 9Tl e & -
(a) =M (b) e (c) @ 3@  (d) ¥Ra

113. F=faRaa # @ form o & saremeTe 9 9+ & ue ary-Tar I g8 7
(a) 1911 (b) 1947 (c) 1950 (d) TTH QI TE

114. Fr=feiaa 9 © forg wes 1 @I o9 3t § 2
(a) fosa (b) foaam (c) qfehe™ (d) GrgsfEn

115. = 4 @ 1w Sfi. 31 wg. Aisfam s afom & @ 2
(a) Tg-wfa&a  (b) ¥ Tlaed (c) Ufmmufaey (d) wfafda afaeq
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116. Who gave the following definition of Geography ?

2

“Geography is the study of spatial organization expressed as patterns and processes.’

(a) Hartshorne (b) Ackerman (c) Smith (d) Taaffe
117. In Geography subject, who first time introduced the word ‘Geopiety’ ?

(a) Kart Sauver (b) John Myur

(c) John Kirtland Wright (d) Peter Hagette

118. Which one statement is wrong ?
(a)  Air temperature normally fall with altitude in the troposphere.
(b) The width of mesosphere is smaller than the width of stratosphere.
(c) Carbon dioxide is a major cause of concern in climate warming.
(d) Transmission of light differs between soil and water.

119. The smallest district of Uttarakhand state by population size is :
(@) Champawat (b) Rudraprayag (c) Uttarkashi (d) Bageshwar

120. Which one of the following states is not a producer of Bauxite ?
(a) Jharkhand (b) Uttarakhand (c) Madhya Pradesh (d) Gujarat

121. Which one of the following is a branch of Physical Geography ?

(a) Applied Geography (b)  Soil Geography
(c) Regional Geography (d) None of these
122. The Jojila (Zojila) pass connects
(a)  Srinagar to Jammu (b)  Srinagar to Baramula
(c) Srinagar to Leh (d) Leh to Manali

123. Durand line is demarcated in between
(a) India and Pakistan
(b) India and Bangladesh
(c) India and China
(d) British India (now Pakistan) and Afghanistan

124. Which one of the following falls under Deccan lava tract ?
(a) Maharashtra and Madhya Pradesh
(b) Gujarat
(c) Andhra Pradesh and Tamil Nadu
(d) All of these

125. In which one of the following geological periods did the fragmentation of Pengea begin in
Wegener’s continental drift theory ?

(a) Carboniferous period (b) Eocene period
(c) Pleistocene period (d) Tertiary period




116. et <1 fefetfiga afvrmn frem @ 2 2
“UITTE TATHeh TS T TSI &, S IIeul Ta WTshaTai o &9 H e gt &~ |

(a) BT (b) THEA (c) fary (d) <
117. et fIo & Tayem Y -39aRca’ 3 i fohe aHmae foha 7
(a) hIC HTER (b) WHEE (c) W TRAvg T (d) g

118. & Teh HYT TAA S ?
(a) &Y HUSH T HHRIA: J-dTIshH 4TS < T2 HH BT & |
(b) HELAHUSH hl HICTE THATY HUSHA H HH ¢ |
(c) SToTaTy 3 &l A 1 G HRUT e ST3 1TSS 8 |
(d) T TUT ST % HET ThTRT o1 TR f= BT 2 |

119. SHEEAT 3 38 H ITTEUE T 1 T BT UG & -

(a) THTEd (b) EEIATT (c) STt (d) SR
120. T 5 1 U TS ‘Sled13 1 IcqTeeh T8 8 7

(a) TREUE (b) TGS (c) HET e (d) TR
121, FrfefEa 9 o6 U Hifaes e i s g ?

(a) TR YTt (b) T~

(c) TICRT e (d) 37H T BT T
122. STSAT € SiredT 8

(a) TR ST (b) SR & S

(c) NTRIAABTH (d) <8 W T I

123. 3UUE W@ Hinitehd &
(a) WA U UTIhEAH o HE
(b) YRA Td STITCST & T
(c) YRd Ud =iF & qe
(d) 3T TRA (376 UTIhEAT ) el STHITEH o HE

124, FAfIfad o @ S gk AT ¢9e o 3T=id AT 8 ?

(a) WEWY 3N qeages (b) TSI
(c) AT 3R AfHeHTg (d) u@ad

125, Frfafiga o & ford U wriiies g1 & SR o weTgd e aTs fagra # Ui & favse sy
B3 7

(a) IS T (b) AR T (c) wierfimgn (d) BRI
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126. Which one of the following term is not associated with the plate tectonic theory ?
(a) Magnetic anomaly (b) Sea-floor spreading
(c) Force of buoyancy (d) Subduction

127. In which river valley the rocks of Gondwana period are found ?
(a) Brahmaputra (b) Satlyj (c) Mahanadi (d) Ganga

128. Which one of the following is not a glacio-fluvial depositional feature ?
(a) Kettle (b) Esker (c) Kames (d) Horn

129. The theory of demographic transition was propounded by :
(a) J.Clarke (b) G.T.Trewartha (c) F.W. Notesteine (d) H. Lal

130. Which one of the following statements is correct ?
(a) Rain shadow region lies in the East of Western Ghat.
(b) Rain shadow region lies in the West of Western Ghat.
(c) Rain shadow region lies in the North of Western Ghat.
(d) Rain shadow region lies in the South of Western Ghat.

131. Which of the following countries is the leading producer of Uranium ?
(a) U.S.A. (b) Canada (¢) Germany (d) Zambia

132. In the ‘Central Place Theory’ of W. Christaller K =7 and K = 4 indicate :
(a) Market principle and Administrative principle
(b) Transport principle and Educational principle
(c) Administrative principle and Transport principle

(d) Marketing principle and Transport principle

133. ‘Concentric Zone Theory’ of urban growth is propounded by :
(@) Homer Hoyt (b) R.E.Dickinson (¢) E.W.Burgess (d) G.K.Zepf

134. Which method has been used for the functional classification of cities by H.J. Nelson ?
(a) Double Index Method
(b) Principal Components Method
(c) Standard Deviation Method

(d) Maximum Positive Deviation Method

135. Which one of the following rivers cross to the equator twice ?
(a) Zaire (b) Nile (c) Niger (d) Zambegi




126. fr=ferfiga uei 4 9 fora w1 grary wie foadfres g a g 2 7
(a) greehra fomfa (b) TR faet g
(c) AT T T (d) T

127. TSI ol shl g fohd T o1l | 918 ST @ 7

(a) REYA (b) Tded (c) WEMal (d) T
128. T @ o femreefta g @ o+ft - ommpfa = 2 2

(a) hfest (b) TEHR (c) %/ (d) =M
129. SHTfehehIa HshHUT g Tfadried femar :

(a) . oA g (b) A, feanerigr

(c) TUH. &y, AN g (d) TE.AT G

130. A AP AT CH FAT T R 7
(a) IS B yew fead are & & # a2 |
(b) IS BT wew dfeaHt are & ufam § fa 2 |
(c) ITBEIUCWURTH g S IHATRGAR |
(d) IS B g fvadt ame & gfevr d fea 2 |

131. < 1 ¢ A 1 Y@ IATEH 8 7
(a) T ST 3G (USA) (b) TSI
(c) (d) e

132, Sy, ToREeTert o ‘g T g H K =7 dUT K = 4 SR st &
(a) SR fem e gemaeh fem (b) FrarTd frm qun Sferes fem
(c) IRTEhIT f=m qut Arard frm (d) SR e e ararma fem

133. TR Ihg 1 Fehsa Ut fagr=r g feanfea femen mm -
(a) TWEEE  (b) NI TP () ey wm @) HF w

134. T % HRITcTeh Fifietyl aq Ta.91. Houd i form fafyr w1 s fepem e 2 2
(a) Tggmepren fafy (b) wHE T fafy
(c) SR et fafy (d) Afrehan gaTees faae fafa

135. T 5 & B 76 e @ 1 G AR S e @ 7
(a) W (b) i (c) s (d) St
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136. ‘Fazenda’ is associated with —
(a) Nomadism (b) Coffee production

(c) Milk production (d) Commercial food production

137. Which of the following countries shares the largest border length with India ?
(a) Bangladesh (b) Pakistan (c) China (d) Nepal

138. ‘Xerophytes’ — biological group, represents the class of vegetation found in —
(@) Tundra
(b) Semi-arid steppes and hot deserts
(c) Tropical rain forests

(d) Humid microthermal climate

139. Which one of the following areas is known as the ‘Cradle of Earliest Agriculture’ ?
(a) South-East Asia (b) Mediterranean region
(c) Andes High region (d) High region of East Africa

140. Which one of the following is the push factor for rural-urban migration ?
(a) Better amenities of living (b) Recreation facility

(c) Better employment opportunities (d) None of these

141. Who says ‘Geography is the chorological science of earth’s surface’ ?
(a) Richthofen (b) A.V.Homboldt (c¢) Carl Ritter (d) Alfred Hatner

142. Which one is the second largest region of Human agglomeration in the world ?
(a) Monsoon Asia (b) Western Europe
(c) N.E. Anglo America (d) West Asia

143. ‘Resources are not, they become’, who stated this ?
(a) Zimmerman (b) Chisholm (c) Bowman (d) Darkenwald

144. Who said “Present is the key to Past” ?
(a) Penk (b) Devis (c) Hutton (d) Retzel

145. Which one of the following theory was propounded by Hoyal and Lyttleton ?
(a) Nova Hypothesis (b) Tidal Hypothesis
(c) Planetesimal Hypothesis (d) Nebula Hypothesis




136. Tholvgr Trafrd § -
(a) US[ERUH (b) I I T
(c) GUIAEAH (d) AN e Icared |

137. wrd freferiad eoi § 9 forees a1 ge ol diara @ a9 g 7

(a) SleTem (b) TTfeRE (c) =M (d) ure
138. SRI%TEEH A9 YUEH, 38 o7 o1 gl ol Tefid Hiar & S uTs ATt & -
(a) TUEIH (b) 3T I RISl e 307 TeEre |
(c) SIWaNiadd (d) 3T gerard Sorarg &
139, FrAfRad & @ M T & T=IHTH SV 1 ITT b € H STHT A1 3 |
(a)  cfeoft-gelf ufern (b) e HAH S
(c) TSN 3= (d) gt 3TshreRT % 3= T
140. F=faRad o @ 19 v arfior-TRe e 7 It HRb 8 ?
(a) T& h! IER Flaumd (b) TERSH <t gleemd
(c) TSI <h e e (d) 3 | HS T

141, “Tict geeft qet 1 & 9o for & — fopaert oA 2 7
(a) T (b) T gHEIE  (c) N (d) TUHS TN

142. fova § g0 9@ ST AME (SH) g & &
(a) HFEEEURET (b) ufvad I (c) 3.9, Tl JWIGHT (d)  ufead uhmn

143. GHIYH Bid T8, 99d & I8 HU fhaep1 2 7

(a) Toms (b) TodH (c) W=HA (d) SThaeS
144, fopEa T ol - adaH Y@ H F 27 7

(a) U (b) sl (c) B& (d) TS
145. =1 8 9 1 = yiteheu giae wa forfeetes g ufaafea i @ 2

(a) e IR (b) ST TfEReHT

(c) TRV IRehedT (d) frarieent gfehean
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154.

The highest point in peninsular India is :
(a) Dodabetta (b)  Anaimudi
(c) Kalsubai (d)  Guru Shikhar

Excessive folding results in :
(a) Nappe formation (b) Block disintegration
(c) Geosyncline (d) Reverse fault

In which vegetational zone the Sundervan found in India ?
(a) Tropical Evergreen (b) Tropical Monsoon
(c) Tidal (d) Mountainous

Govind Sagar is a name of a reservoir associated with which one of the following dams ?
(a) Sardar Sarovar Dam (b) Bhakra Dam
(c) Rana Pratap Sagar Dam (d) Koyna Dam

Which mountain range in Uttarakhand is called the ‘Pamir of Uttarakhand’ ?
(a) Surkanda (b) Nagtibba (¢) Khatling (d) Dudhatoli

The ‘Thermal Equator’ is found
(a) North of Equator (b)  South of Equator
(c) Atthe Equator (d) None of these

The Direction of Winds around a low pressure area in north hemisphere is
(a) Clockwise (b)  Anti-clockwise

(c) Perpendicular to isobars (d) Parallel to isobars

Which one of the following is associated with ‘Collision-Coalescence Theory’ ?
(a) Cyclones (b) Mountain Building
(c) Clouds (d) Precipitation

Which type of the Plate boundary of the Indian plate is along the Himalayan mountains ?
(a) Continent to continent convergence

(b) Divergent boundary

(c) Ocean to continent convergence

(d) Transform boundary




146. TREGTE YRA 1 G fog & -
(a) GEEgE (b) TEHE (c) T3 (d) TR

147. A g H Fnadare

(a) =9 (Nappe) T &1 (b) @S gl
(c) Toafirpems (d) 3chE U
148. WA H Freta for aeafa weor § are Sid 8 7
(a) I Hieafia weeER (b) I e AR
(c) IR (d) v

149. Tfe< SR Teh FATRME 1 AW & I i § 9w & g
(a) R TR 1Y (b) VTGS STy
(c) TSI AR SiY (d) HEAETY

150. IAUEUE TSH 6l I G qeagvf} IqUEUg o1 I 98 8 JH S 8 7
(a) Yhel (b) AmTfesan (c) WafeT (d) gy

151. IoH ferger T uTg STt 2

(a) Toged @ s smd (b) Toyaa @1 feor &
(c) Togeat@ ™ (d) T I HE TE

152, 3R MeTrg § =t arperer o =i axw qai o feem gnft
(a) EIStoh! GeAl b ITTEA (b) =t h gl b fodia
(c) HUCHE @I3AT & T (d) TUCE WIS o THHTR

153. ‘Gued-gar=a fagmr freafofiga 8 @ fra te g gmfa 2 7
(a) SshaTd (b) uEq fmTor (c) 9Tea (He) (d) 99U

154. TEHTeT™ veidl o G WRAR ©ie <hl €T fohd qiE ol wie @i e 7
(a) WETEY ¥ HRTEIT bl JTRE (b)  FuET =i
(c) HWR ¥ HETE i AT (d) wUT=T =
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156.

157.

158.

159.

160.

161.

162.

163.

164.

165.

166.

The largest tribal community of Uttarakhand on the basis of population size, is
(a) Bhotia (b) Tharu (c) Jaunsari (d) Boksas

“Vegetation, is the true index of climate.” Who stated ?
(a) Thornthwait (b) L.D. Stamp (c) Koppen (d) Kendrew

Which one of the following is not included as ‘rare resources’ ?
(a) Gold (b) Natural gas (c) Silver (d) Platinum

Which of the following states has largest surfaced road length in India ?
(a) Uttar Pradesh (b) Madhya Pradesh (¢) Karnataka (d) Maharashtra

Identify the Greek Geographer who was a Librarian and experimented at ‘Syene’ near Nile
river on Tropic of Cancer.

(a) Ptolemy (b) Hecataeus (c) Herodotus (d) Eratosthenes

Identify a true shaped projection which has equal length of equator and tropics.
(a) Polyconic projection (b) Mercator projection

(c) International projection (d) Mollweids projection

Which one of the following characteristics is best suited to intensive farming ?
(a) Large farm size (b) Low labour input
(c) High yield rate (d)  All of these

According to A. Weber the location of industry is primarily determined by
(a) Economies of scale (b) Government policy

(c) Transportation cost (d) Labour cost

Which one of the following is not correctly matched with reference to ‘SIROCCO’ wind ?
(a) Khamsin — Egypt (b)  Ghibli — Libya
(c)  Chili — Tunisia (d) Chinook — South Africa

Tsunami waves originate from :
(a) Tornadoes (b) Earthquake (c) Hurricane (d) Global Warming

Which one of the following is not a major coal field of India ?
(a) Raniganj (b) Jharia (c) Codarma (d) Bokaro

In which area pediments are found ?
(a) Delta (b) Zone of Confluence
(c) Mountain (d) Desert




155, SHEEAT i 318 H ITRGUVE h1 Fa8 TT FAAA T &
(a) e (b) UE (c) SiFEr (d) e

156. “STeTaTy], IEfd 1 Hal HTICUS 8" fohe hal ?
(a) e (b) TAZ. WM (¢) DA (d) L

157. ot s  fraforfiga § & & w1 aca wfie 4 @ 2
(a) GHI (b) WTfeh T8 (c) = (d) wifefm

158. = 1 ¥ &1 @ YR =9 4 gaifres ggs a2
(a) I I (b) T T (c) ohIeH (d) WERY

159. 38 AT I o b1 Fafga HIT St eelermeast o1 g il T¢t & e heb 1@ T AT
TSR e o

(a) CTeTHt (b) TEhfesm (c) ‘UskH (d) TS
160. JUET {@1 9 Hieai T qUH TS W 9Tl Tl 3R Tad i fafed Hif |

(a) UTcehIeh J&IT (b) T I8

(c) IT=RIYE v&m (d) e ya

161. =1 5 @ o6 =t ferorar e iy & fore wed 3w @ 2
(a) SSAMABR (b) F=zmfEw (o) IFEIWE (d) IJgah

162. T. e o ITEN &N o1 AT Jeid: Feiia grar g ?

(a) ufwmor graeeht srifafa @ (b) "N Aifad

(c) W& qead d) Foead
163. &I (SIROCCO) o % Heyl # frferfiga # & o1 s gafera T 2 7

(a) TwHH - e (b) firech — fferm

(c) Tacft —=rhfeen (d) ToTe —<faror arshrent
164. FATH T i 3T Bt &

(a) TS (b) YHEH (c) &iHd (d) YHvSH T ISTCT &
165. F=ferfiga # @ 1 T WA &1 T9E FHRre &7 T R 7

(a) TS (b) T (c) ohiswT (d) SR

166. U= forg &7 1 firerd 8 7
(a) S (b) T A (c) Uad (d) TeEIA
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167. In Koppen’s classification of world climate, the climate of middle Ganga plain was shown
by :
(a) Aw (b) Amw (c) Bshw (d) Cwg

168. In which river valley the rocks of Gondwana period are found ?
(a) Brahmputra (b) Satlyj (c) Mahanadi (d) Ganga

169. Which of the following is the oldest mountain of India ?
(a) Aravalli (b) Satpura (¢) Vindhyachal (d) Nilgiri

170. Which of the following pairs is not correctly matched ?

(Soil) (State)
(a) Alluvial — Uttar Pradesh
(b) Regur — Maharashtra
(c) Red & Yellow - Chhattisgarh
(d) Laterite — Punjab

171. Where is ‘Dakshina Gangotri’ located ?
(a) Sri Lanka (b) Karnataka (c) Tamil Nadu (d) Antarctica

172. Which one of the following terms is not associated with the Plate Tectonic theory ?
(a) Magnetic anomaly (b) Sea-floor spreading
(c) Force of buoyancy (d)  Subduction

173. Which one is the largest Tea producing state of India ?
(a) Assam (b) Uttarakhand
(c) Himachal Pradesh (d) West Bengal

174. Which one of the following states has the lowest sex-ratio as per the census of India 2011 ?
(a) Sikkim (b) Karnataka (c) Haryana (d) Andhra Pradesh

175. The largest wind farms in India are located in
(@) Tamil Nadu (b) Maharashtra (¢) Gujarat (d) Rajasthan

176. Which one of the following Industrial Region of India is famous for jute industry ?
(a) Mumbai-Pune Industrial Region
(b) Gujarat Industrial Region
(c) Bangalore-Tamil Nadu Industrial Region
(d) Hoogly Industrial Region




167. U o fowa Serary affentor § wead! T HeM 6l ey Tehid i 715 7

(a) TSy, gl (b) TH.TSY, g

(c) w1.TH.T=.3%Y, g (d) Hl.gsey S gra
168. TiaT et shl =g ford &) o1l | 918 STt & 72

(a) SR (b) HAS (c) WEMd (d) T
169. Fre=rferRgd o 9 €T Teh WA o1 Ga11ieh I+ geid @ ?

(a) AT (b) FAYST (c) Toreame (d) Hafift
170. T=farRaa i & s wsh gafera T8 2 -

(frgh) (T=3)

(a) G - 3T

(b) U@ - HEWY

(c) WEuadeft - wfoe

(d) s S CIE]
171. <faror Ty et fRa 2 7

(a) Hfictent (b) HACH (c) dferTg (d) IATTEhieah
172. fr=ferfiaa uei 4 9 fora we o1 arary wie foadfres g a g 2 7

(a) Frsehra fomfa (b) TR et g

(c) 3IATIHAT HI dA (d) TeTEdH

173. T 9 9 & 91 U YR 1 Falfeeh & 31 TSI © 7
(a) 3TEW (b) STETS (c) Teameet gem (d) iy s

174. TfaRad # ¥ fore T TSI H WA 1 SFIOMET 2011 3 STTER ol mama =Haw 8 7
(a) Tufeen (b) HAleH (c) Efmm (d) A=Y I

175. W % gean favg-wm feorq §
(a) dqEEHIEH  (b) TENEH (c) ToaH (d) TRIH T

176. Treferiad o @ e shi hiF Teh T Tev 52 e & fofe ufirg 8
(a) gra$-ol 3Tenfires yew (b)  ToIa ST T
(c) STAR-AMHHTg 3TNt Jeu (d) et STrEnfiTes Jeu
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177.

178.

179.

180.

181.

182.

183.

184.

185.

186.

187.

The South-East coast of India receive rainfall during winter season from :
(a) Bay of Bengal winds (b) Retreating monsoon winds
(c) Arabian Sea winds (d) None of these

When was the ‘Project Tiger’ launched in India ?

(a) 1972 (b) 1973 (c) 1974 (d) 1971

Which one of the following rock systems in India is the main source of coal deposits ?
(a) Dharwar system (b) Gondwana system

(c) Cudappah system (d) Vindhyan system

Which one of the following is not related to soil ?

(a) Khadar (b) Bangar (c) Reh (d) Weds
Which one of the following is not a Mineral oil field ?

(a) Ankleshwar (b) Dhanbad (c) BombayHigh (d) Digboi
Which one of the following mountain range is the youngest in India ?

(a) Karakoram (b)  Greater Himalaya

(c) Lesser Himalaya (d)  Shivaliks

According to the length of the following rivers, the correct descending order is :
(a) Yamuna — Godawari — Krishna — Kaveri
(b) Godawari — Krishna — Yamuna — Kaveri
(c) Godawari — Krishna — Kaveri — Yamuna
(d) Godawari — Yamuna — Krishna — Kaveri

In which state of India ‘Tata Iron and Steel Company’ is located ?
(a) Bihar (b)  Jharkhand (c) Odisha (d) West Bengal

In Garhwal Himalaya, Main Boundary Thrust/Fault (MBT/MBF) passes through :
(a) Rajpur in Dehradun district (b) Chakrata in Dehradun district
(c) Okhimath in Rudraprayag district (d) Harshil in Uttarkashi district

In Uttarakhand, ‘Indra Prayag’ is known as :

(a) Tehri (b) Harshil (c) Tilwara (d) Vyas Ghat
The second highest mountain peak in Uttarakhand is :

(a) Nanda Devi (Western) (b) Nanda Devi (Eastern)

(c) Kamet (d) Trishul

. The study of ‘Geographical Information System’ (G.I.S.) started in :

(a) 1962 (b) 1965 (c) 1958 (d) 1960




177. W o efequr-geff qe # sfiashrel awi 2t 2 -
(a) A Y WL 713N (b) Tted AFEI €
(c) e AT genati | (d) 379 T HIE Tl

178. WA H ‘WIS 3R o1 YT e §3TT ?
(a) 1972 (b) 1973 (c) 1974 d 1971

179. FreAifera Stetdat # i YA % Hige FEM HT T Ea R ?
(a) YUNETSHH  (b) TSI A (c) S A (d) Toreman

180. T T ¥ %19 U 71 § WA ld el @ 7

(a) Wi (b) TR ) & (d) oH
181. T T | 181 Teh @S det &7 781 8 7
(a) IHHATR (b) EETg (c) di e d) fe=g

182. 1= % ¥ 9Ra H & € yed J@er TdHan & ?
(a) HRHH (b) = feaTe™ (c) oY f&aTe™ (d) e

183, TS 3 STgem foreifera feefl <1 wet srariet 7 2
(a) AT — TIETeHY — o — Tl (b)  TETeRy — psomr — AT — e
(c) TGTedt — ST — Shradl — JHAT (d) TGt — JHAT — M — Hradl

184. T 3T We A hro YRa & fera Toar H fa 2 7

(a) ToEw (b) IR@UE (c) 3 (d) ufeem sma
185. TGATS feHTerd H 4 €1 991 (MBT/MBF) TS & -

(a) CBUGH S9G H U & (b) GEUGH SHUG H =hUdl §

(c) TEIATT TUE H HEHS T (d) TSR TUe H i @
186. ITAUEUS § FEYANT T ATAT & :

(a) fe=dt (b) Tl (c) feeraren (d) SIER
187. ITUEUE H GHU FaT= qaid G 3 :

(a) aredt (=) (b) =1 galt (i)

(c) M (d) P
188. ““iTTifeteh T Jomel!” (Sf.3775.TH. ) 1 STEI TRFT §3TT -

(a) 19627 (b) 19657 (c) 1958% (d) 1960H
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189.

190.

191.

192.

193.

194.

195.

196.

197.

198.

199.

200.

In which year the American scholar E.W. Zimmermann wrote his book ‘World Resources
and Industries’ ?

(a) 1949 (b) 1933 (c) 1955 (d) 1958

Arrange the following places of Kashmir Himalaya in order of North to South :
1. Srinagar 2. Gilgit 3. Kargil 4.  Banihal
(@ 1,2,3,4 (b) 4,3,2,1 () 2,3,1,4 (d 2,1,3,4

Who gave the following definition of Geography ?
“Geography is the study of spatial organization expressed as patterns and processes.”
(a) Hartshorne (b) Ackerman (c) Smith (d) Taaffe

Which one of the following tribes is related to Uttarakhand ?

(a) Santhal (b) Banrawat (c) Naga (d) Toda
‘Urban Villages’ are generally found in

(a) US.A. (b) China (¢) India (d) Sri Lanka
Which one of the following is not a result of GIS modelling ?

(a) Binary model (b) Index model
(c) Regression model (d) Iconic model

Which one of the following symbols does not show data ?
(a)  Spot height (b) Benchmark
(c) Contour (d) Triangulation station

Which one of the following has been adopted to define town in Census of India, 2011 ?
(a) Growth of Population (b) Density of Population
(c) Literacy rate (d) Sex-ratio

Which one of the following does not represent horizons of soil profile ?
(@ O (b) C (c) R (d M

The largest coal field of India is
(a) Jharia (b) Ranigang (c) Bokaro (d) Giridih

Who has presented a good description of house types and building materials in desert areas ?
(@) AlMasudi (b) Al Bairuni (c) Ibn Batuta (d) Al Idrisi

Who first used the term ‘Plate’ ?
(a) Arther Holms (b) Morgan (¢) Tujo Wilson (d) None of these




189. 37T fagM 3. oq]. Forme 3 310 qicieh ‘Ies RTeg wug sewdiar o1 o fopdt a o 7

(a) 1949 (b) 1933 (c) 1955 (d) 1958
190. HvHR fgaTer™ o fFreifena el =6 3T 9 <feor e 1 Rau -

1. ofr 2. fiefa 3. HRAA 4. sfiEE

(@) 1,2,3,4 (b) 4,3,2,1 () 2,3,1,4 d 2,1,3,4

191. T st F=fARad aiedTsT e &1 8 7 “9iTiet ST ETed 1 SR 8, S Tisui Ta
Sfshanatt & 9 H e BT @ |7

(a) BREWH (b) THEA (c) foru (d) T
192. fr=faIfiad d & H Teh SHSTTG STUREUS © HrIf-d 8 7
(a) TUTA (b) s (c) AT (d) <=

193, O™ UMW 9T: 9 S 8
(a) .U 3mEE (b) =+ (c) ¥Na (d) et

194, T o B 9 T Sf.377E.0H. Hisfelm 1 qiomy T&i & 7
(a) Tg-ufew (b)) ¥k vfaey (c) Ufemaufaew (d) wfafsd afaey

195. Tr=forRaa o @ = tsh furg 31fehei ol T8l guiar & ?

(a) T HEE (b) dqAreg (c) Tur= @l (d) By wIH
196. T=feTiaa 4 form Tk ol WRA hl SHTOMET-2011 | T hl GRATNG o o fel ST99m T

27

(a) SHEE g (b) SHAESIEEE () HIERAT (d) IH-3IUE
197. T 5 & %1 T geT-vi=a et o Tl i Jeia Tef wtar 2 7

(@ O b)) C () R (d M
198. WA &1 Gad < AT &3 &

(a) @ (b) T (c) dhRI (d) Tl
199. IR &3 H Wb < JehR Ta k! Frwfor araft w1 Tt forawor fope wreqa fopam & 2

(a) 3T AECI (b) 3T &t (c) & S (d) 37T gt
200. FETUH YegTael wie’ R T i ?

(a) 3IMREF  (b) TN (c) T foemm (d) T T P &S

INF 37 Series-A




